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STATEMENT
CONCLUSION

Direction (1-6): Read the given statements and
conclusions carefully. Assuming that the information
given in the statement is true, decide which of the
given conclusions logically follows from the statement.

funsZ'k (1&6)% fn, x, dFku vkSj fu"d"kksZa dks è;kuiwoZd if<+,A ;g
ekurs gq, fd dFku esa nh xbZ tkudkjh lR; gS] r; dhft, fd fn, x,
fu"d"kksZa esa ls dkSu lk] dFku dk rkfdZd :i ls vuqlj.k djrk gSA

1. Statement/dFku%
The new government's policy aims to reduce carbon
emissions by 50% within the next decade.

vxys n'kd ds Hkhrj dkcZu mRltZu dks 50% rd de djuk] ubZ
ljdkj dh uhfr dk y{; gSA

Conclusion/fu"d"kZ:
I. The government will imme-diately ban all vehicles

running on fossil fuels.

ljdkj] thok'e bZa/u ij pyus okys lHkh okguksa ij rqjar izfrca/
yxk nsxhA

II. The government will shut down all coal-fired power
plants.

ljdkj] dks;ys ls pyus okys lHkh fctyh la;a=kksa dks can dj
nsxhA

CHSL Tier-I, 26/06/2023 (Shift-1)

(a) Both conclusion I and II follow.

fu"d"kZ I vkSj fu"d"kZ II nksuksa vuqlj.k djrs gSaA
(b) Neither conclusion I nor conclusion II follows.

u rks fu"d"kZ I vkSj u gh fu"d"kZ II vuqlj.k djrk gSA
(c) Only conclusion I follows.

dsoy fu"d"kZ I vuqlj.k djrk gSA
(d) Only conclusion II follows.

dsoy fu"d"kZ II vuqlj.k djrk gSA

2. Statement/dFku%
India’s largest lender bank has announced that it will
be allowing customers to exchange Rs. 2,000 notes
without a requisition slip for amounts up to Rs. 20,000.

Hkkjr ds lcls cM+s ½.knkrk cSad us ?kks"k.kk dh gS fd og xzkgdksa dks
20]000 #i;s rd dh jkf'k ds fy, fcuk fdlh ekax iphZ ds 2]000
#i;s ds uksV cnyus dh vuqefr nsxkA

Conclusion/fu"d"kZ:
I. No one will be allowed to withdraw an amount of

more than Rs. 20,000.

fdlh dks Hkh 20]000 #i;s ls vf/d dh jkf'k fudkyus dh
vuqefr ugha nh tk,xhA

II. No requisition slip is required for exchange of up
to Rs. 20,000.

20]000 #i;s rd ds fofue; ds fy, fdlh ekax iphZ dh
vko';drk ugha gSA

CHSL Tier-I, 26/06/2023 (Shift-1)

(a) Only Conclusion I follows.

dsoy fu"d"kZ I vuqlj.k djrk gSA
(b) Neither Conclusion I nor Conclusion II follows.

u rks fu"d"kZ I vkSj u gh fu"d"kZ II vuqlj.k djrk gSA
(c) Both Conclusion I and Conclusion II follow.

fu"d"kZ I vkSj fu"d"kZ II nksuksa vuqlj.k djrs gSaA
(d) Only Conclusion II follows.

dsoy fu"d"kZ II vuqlj.k djrk gSA

3. Statement/dFku%
Since the past 15 years, 75% of the products in the
world’s pottery market comes from Country K.
However, the employment in the pottery industry of
Country K has been consistently declining by 5-9%
every year since the past 3 years.

fiNys 15 o"kks± ls] nqfu;k ds feV~Vh ds crZuksa ds cktkj esa 75» mRikn
ns'k K ls vkrs gSaA gkykafd] ns'k K ds feV~Vh ds crZu m|ksx esa fiNys
3 o"kks± ls gj lky jkstxkj esa 5&9» dh yxkrkj fxjkoV vk jgh gSA

Conclusion/fu"d"kZ:
I. Even after declining employ-ment, Country K has

enough potters to continue contri-buting equally
to the international market.

jkstxkj ?kVus ds ckn Hkh] ns'k K ds ikl varjkZ"Vªh; cktkj esa
leku :i ls ;ksxnku tkjh j[kus ds fy, i;kZIr dqEgkj gSaA

II. The local demand of pottery in Country K has
substantially decreased leading to less interest
among potters.

ns'k K esa feV~Vh ds crZuksa dh LFkkuh; ekax esa dkiQh deh vkbZ gS]
ftlls dqEgkjksa ds chp #fp de gks xbZ gSA

CGL Mains, 06/03/2023

(a) Neither I nor II can be concluded.

u rks fu"d"kZ I fudkyk tk ldrk gS vkSj u gh II fudkyk tk
ldrk gSA

(b) Only II can be concluded.

dsoy fu"d"kZ II fudkyk tk ldrk gSA
(c) Only I can be concluded.

dsoy fu"d"kZ I fudkyk tk ldrk gSA
(d) Both I and II can be concluded.

fu"d"kZ I vkSj II nksuksa fudkys tk ldrs gSA

4. Statement/dFku%
R is not the mother of P.P is the daughter of S, and S
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has three daughters.

R, P dh eka ugha gSA P, S dh iq=kh gS] vkSj S dh rhu iqf=k;k¡ gSaA
Conclusion/fu"d"kZ:
I. P is the sister of R

P, R dh cgu gSA
II. S is the mother of P.

S, P dh ek¡ gSA

NTPC CBT-2
(a) Only conclusion I follow.

dsoy fu"d"kZ I vuqlj.k djrk gSA
(b) Neither conclusion I nor II follows.

u rks fu"d"kZ I u gh II vuqlj.k djrk gSA
(c) Only conclusion II follows.

dsoy fu"d"kZ II vuqlj.k djrk gSA
(d) Both conclusions I and II follow.

fu"d"kZ I vkSj II nksuksa vuqlj.k djrs gaSA

5. Statement/dFku%
India is a country of multiple languages.

Hkkjr vusd Hkk"kkvksa dk ns'k gSA

Conclusion/fu"d"kZ:
I. All Indians can speak multiple languages.

lHkh Hkkjrh; dbZ Hkk"kk,a cksy ldrs gSaA
II. Every contry has multiple languages.

gj dkWUVªh esa dbZ Hkk"kk,¡ gksrh gSaA

NTPC CBT-2

(a) Only conclusion II follows.

dsoy fu"d"kZ II vuqlj.k djrk gSA
(b) Neither conclusion I nor II follows.

u gh fu"d"kZ I u gh II vuqlj.k djrs gSaA
(c) Both conclusions I and II follows.

fu"d"kZ I vkSj II nksuksa vuqlj.k djrs gSaA
(d) only conclusion I follows.

dsoy fu"d"kZ I vuqlj.k djrk gSA

6. Statement/dFku%
Milk will become poison, if kept in a copper utensil.
Poison is good for consumption and health.

nwèk dks rkacs ds crZu esa j[kus ls tgj cu tkrk gSA tgj] [kkus vkSj
lsgr ds fy, vPNk gksrk gSA

Conclusion/fu"d"kZ:
I. People should consume milk which is kept in a

copper pot.

yksxksa dks rkacs ds crZu esa j[ks nwèk dk lsou djuk pkfg,A
II. Consumption of poison should be avoided.

tgj ds lsou ls cpuk pkfg,A

NTPC CBT-2

(a) Conclusion II follows.

fu"d"kZ II vuqlj.k djrk gSA
(b) Both the conclusions I and II follow.

fu"d"kZ I vkSj II nksuksa vuqlj.k djrs gSaA
(c) Neither conclusion I nor II follows.

u rks fu"d"kZ I vkSj u gh II vuqlj.k djrk gSA
(d) Conclusion I follows.

fu"d"kZ I vuqlj.k djrk gSA

Direction (7-20): In each question below is given a
statement followed by two conclusions numbered I and
II. You have to assume everything in the statement to
be true, then conclder the two conclusions together
and decide which of them logically follows beyond a
reasonable doubt from the information given in the
statement. Give answer

funsZ'k (7&20)% uhps fn;s x;s izR;sd iz'u esa nks fu"d"kksaZ ds Øekad I
vkSj II ,d dFku dk vuqdj.k djrs gSA vkidks dFku esa nh xbZ
tkudkjh dks lgh ekurk gS] fiQj nksuksa fu”d”kksZa ij ,d lkFk è;ku ns
vkSj fu.kZ; ys fd buesa ls dkSu&lk rdZlaxr :i ls dFku esa nh xbZ
tkudkjh ls mfpr lansg ls ijs gSA mÙkj nhft,A
(a) If only conclusion I follows.

;fn dsoy fu"d"kZ I vuqlj.k djrk gSA
(b) If only Conclusion II follows.

;fn dsoy fu"d"kZ II vuqlj.k djrk gSA
(c) If either I or II follows.

;fn I ;k II vuqlj.k djrk gSA
(d) If neither I nor II follows.

;fn u rks I vkSj u gh II vuqlj.k djrk gSA
(e) If both I and II follow.

;fn nksuksa I vkSj II vuqlj.k djrs gSA
7. Statement/dFku%

The oceans are a storehouse of practically every
mineral including uranium. But like most other
minerals, it is found in extremely low concentration-
about three gms. per 1000 tonnen of water.

egklkxjksa esa ;wjsfu;e lfgr O;kogkfjd :i ls gj [kfut dk HkaMkj gSA
ysfdu vf/dka'k vU; [kfutksa dh rjg ;g csgn de lkUnzrk esa ik;k
tkrk gS& yxHkx 1000 Vu ikuh esa 3 xzke dh nj lsA

Conclusion/fu"d"kZ:
I. The oceans are a Cheap source of Uranium.

egklkxj ;wjsfu;e dk ,d vYieksyh L=kksr gSA
II. The Oceans harbour radiation hazards.

egklkxj cUnjxkgksa dks fofdj.k dk [krjk gksrk gSA

8. Statement/dFku%
The minister questioned the utility of the space
research programme and susuggested its replacement
by her areas of felt national needs.

ea=kh us varfj{k vuqla/ku dk;ZØe dh mi;ksfxrk ij loky mBk;k vkSj
jk"Vªh; t:jrksa ds vU; {ks=kksa ds izfrLFkkiu dk lq>ko fn;kA

Conclusion/fu"d"kZ:
I. Exploring the space does not contribute to critical

national needs.

varfj{k dh [kkst egRoiw.kZ jk"Vªh; t:jrksa esa ;ksxnku ugha nsrh gSA
II. Research should be oriented to national needs.

vuqla/ku jk"Vªh; t:jrksa ds vuqdwy gksuh pkfg,A

9. Statement/dFku%
The laws and statutes framed by the Government for
the purpose of providing equal treatment to every
citizcns, on implementation perpetuate corrupt
working system.

gj ukxfjd dks leku O;ogkj iznku djus ds mns'; ls ljdkj }kjk
cuk, x;s dkuwu vkSj vf/fu;e] dk;kZUo;u ij Hkz"V dk;Z iz.kkyh dk
cuk;s j[ks gSA
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Conclusion/fu"d"kZ:
I. The laws and statutes should be framed but they

should not be implemented to avoid corrupt
working system.

dkuwu vkSj vf/fu;e rS;kj fd;s tkus pkfg, ijUrq Hkz"V dk;Z
iz.kkyh ls cpus ds fy, mUgsa ykxw ugha fd;k tkuk pkfg,A

II. There should be obvious method to investigate
corrupt working system.

Hkz"V dk;Z iz.kkyh dh tkp¡ djus ds fy, Li"V fof/ gksuh pkfg,A

10. Statement/dFku%
Mrs X is nominated for one of the two posts of which
one post is reserved by the Managing Committee for
the female of other religious minority community and
the other for the female of Scheduled Castes or
Scheduled Tribes.

Jherh 'X' dks nks inksa esa ls ,d ds fy, ukfer fd;k x;k gS ftuesa
ls ,d in vU; /kfeZd vYila[;d leqnk; dh efgyk ds fy, izcU/
lfefr }kjk vkjf{kr gS vkSj nwljk vuqlwfpr tkfr ;k vuqlwfpr
tutkfr;ksa dh efgyk ds fy, gSA

Conclusion/fu"d"kZ:
I. Mrs 'X' is the member of religious minority

community.

Jherh 'X' /kfeZd vYila[;d leqnk; dh lnL; gSA
II. Mrs 'X' is the member of Scheduled Castes or

Scheduled Tribes.

Jherh 'X' vuqlwfpr tkfr ;k vuqlwfpr tutkfr;ksa dh lnL; gSA

11. Statement/dFku%
We do not need today in India extra-ordinary
specialists but those trained ordinary doctors who are
dedicated to their profession.

gesa vkt Hkkjr esa vlk/kj.k fo'ks"kKksa dh vko';drk ugha gS] ysfdu
mu lk/kj.k izf'kf{kr fpfdRldksa dh gS tks vius O;olk; ds fy,
lefiZr gksA

Conclusion/fu"d"kZ:
I. We should promote medical profession with

dedicated ordinary doctors rather than promoting
high specialised medical education.

gesa mPp fof'k"V fpfdRlk f'k{kk dk c<+kok nsus ds ctk; lefiZr
lkekU; fpfdRldksa ds lkFk fpfdRlk O;olk; dks c<+kok nsuk
pkfg,A

II. Extraordinary specialists are not dedicated to their
profession.

vlk/kj.k fo'ks"kK vius O;olk; ds izfr lefiZr ugha gksrs gSA

12. Statement/dFku%
Many people and media alleged that Mr 'X', the
opposition leader, met the Chief Minister yesterday
to seek certain favours, an allegation which was
strongly rejected by Mr 'X'.

dbZ yksxksa vkSj ehfM;k us vkjksi yxk;k fd foi{kh usrk Jh 'X' dqN
vuqxzg ekaxus ds fy, dy eq[;ea=kh ls feys Fks] ,d vkjksi ftls Jh
'X' }kjk n`<+rk ls [kkfjt dj fn;k x;k FkkA

Conclusion/fu"d"kZ:
I. Mr 'X' did meet the Chief Minister yesterday to

seek certain favours.

Jh 'X' dqN vuqxzg ekaxus ds fy, dy eq[;ea=kh ls feys FksA

II. Mr X did not meet the Chief Minister to seek
certain favours.

Jh 'X' dqN vuqxzg ekaxus ds fy, dy eq[;ea=kh ls ugha feys FksA

13. Statement/dFku%
For over three decades company 'X' has been totally
involved in energy conservation, its efficient use and
management.

rhu n'kdksa ls vf/d le; ls daiuh 'X' mQtkZ laj{k.k] blds dq'ky
iz;ksx vkSj izcaèku esa iwjh rjg 'kkfey gSA

Conclusion/fu"d"kZ:
I. The company has yet to learn and acquire basic

things in this area.

daiuh dks vHkh bl {ks=k esa cqfu;knh phtksa dks lh[kuk vkSj gkfly
djuk gSA

II. It is dedication that is more important than
knowledge and expertise.

;g leiZ.k gS tks Kku vkSj fo'ks"kKrk ls vf/d egRoiw.kZ gSA

14. Statement/dFku%
This book 'Z' is the only book which focuses its
attention on the problem of poverty in India between
1950 and 1980.

;g iqLrd 'Z' ,dek=k iqLrd gS tks 1950 vkSj 1980 ds chp Hkkjr
esa xjhch dh leL;k ij viuk è;ku dsanzh; djrh gSA

Conclusion/fu"d"kZ:
I. There was no question of poverty before 1950.

1950 ls igys xjhch ij dksbZ loky ugha FkkA
II. No other books deals with poverty in India during

1950 to 1980.

1950 ls 1980 ds nkSjku Hkkjr esa xjhch ij o.kZu djus okyh dksbZ
vU; iqLrd ugha gSA

15. Statement/dFku%
Applications of applicants who do not fulfil eligibility
criteria and/or who do not submit applications before
last date will be summarily rejected and will not be
called for the written test.

vkosndksa ds vkosnu tks ;ksX;rk ekunaMks dks iwjk ugha djrs gS vkSj@;k
tks vafre frfFk ls igys vkosnu tek ugha djrs gSA mUgs rqjar [kkfjt
dj fn;k tk;sxk vkSj fyf[kr ijh{kk ds fy, ugha cqyk;k tk;sxkA

Conclusion/fu"d"kZ:
I. Those who are called for the written test are those

who fulfil eligibility criteria and have submitted
their applications before last date.

ftUgas fyf[kr ijh{kk ds fy, cqyk;k tkrk gS os gS tks ;ksX;rk
ekunaMks dks iwjk djrs gS vkSj vafre frfFk ls igys vius vkosnu
tek dj pqds gSA

II. Written test will be held only after scrutiny of
applications.

fyf[kr ijh{kk dsoy vkosnu dh tk¡p ds ckn gh vk;ksftr dh
tk;sxhA

16. Statement/dFku%
In a one-day cricket match, the total runs made by a
team were 200. Out of these, 160 runs were made by
spinners.

,d fnolh; fØdsV eSp esa] ,d Vhe }kjk cuk, x, dqy ju 200 FksA
buesa ls 160 ju fLiujksa }kjk cuk, x, FksA
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Conclusion/fu"d"kZ:
I. 80% of the team consists of spinners.

Vhe esa 80» fLiuj gSaA
II. The opening batsmen were spinners.

'kq#vkrh cYysckt fLiuj FksA

17. Statement/dFku%
The old order changed, yielding place to new.

iqjkuh O;oLFkk cny xbZ vkSj ubZ O;oLFkk dks txg fey xbZA

Conclusion/fu"d"kZ:
I. Change is the law of nature.

ifjorZu çÑfr dk fu;e gSA
II. Discard old ideas because they are old.

iqjkus fopkjksa dks R;kxsa D;ksafd os iqjkus gSaA

18. Statement/dFku%
The government has spoiled many top-ranking
financial institutions by appointing bureaucrats as
Directors of these institutions.

ljdkj us dbZ 'kh"kZ jSafdax okys foÙkh; laLFkkuksa dks bu laLFkkuksa ds
funs'kd ds :i esa ukSdj'kkgksa dks fu;qÙkQ djds •jkc dj fn;k gSA

Conclusion/fu"d"kZ:
I. The government should appoint Directors of the

financial institutions taking into consideration the
expertise of the person in the area of finance.

ljdkj dks foÙk ds {ks=k esa O;fÙkQ dh fo'ks"kKrk dks è;ku esa j•rs
gq, foÙkh; laLFkkuksa ds funs'kdksa dh fu;qfÙkQ djuh pkfg,A

II. The Director of the financial institution should
have expertise commensurate with the financial
work carried out by the institution.

foÙkh; laLFkku ds funs'kd ds ikl laLFkku }kjk fd;s tkus okys
foÙkh; dk;ks± ds vuq:i fo'ks"kKrk gksuh pkfg,A

19. Statement/dFku%
Population increase coupled with depleting resources
is going to be the scenario of many developing
countries in the days to come.

vkus okys fnuksa esa tula[;k òf¼ ds lkFk ?kVrs lalk/u dbZ fodkl'khy
ns'kksa dk ifjn`'; cuus tk jgs gSaA

Conclusion/fu"d"kZ:
I. The population of developing countries will not

continue to increase in the future.

Hkfo"; esa fodkl'khy ns'kksa dh tula[;k esa of̀¼ tkjh ugha jgsxhA
II. It will be very difficult for the governments of

developing countries to provide their people a
decent quality of life.

fodkl'khy ns'kksa dh ljdkjksa ds fy, vius yksxksa dks lH;
xq.koÙkk okyk thou çnku djuk cgqr dfBu gksxkA

20. Statement/dFku%
The T.V. programmes, telecast specially for women
are packed with a variety of recipes and household
hints. A major portion of magazines for women also
contains the items mentioned above.

efgykvksa ds fy, fo'ks"k :i ls çlkfjr T.V. dk;ZØe fofHkUu çdkj
ds O;atuksa vkSj ?kjsyw ladsrksa ls Hkjs gksrs gSaA efgykvksa ds fy, if=kdkvksa
ds ,d cM+s fgLls esa Åij mfYyf•r ckrsa Hkh 'kkfey gSaA

Conclusion/fu"d"kZ:

I. Women are not interested in other things.

efgykvksa dks nwljh phtksa esa dksbZ fnypLih ugha gksrhA
II. An average woman's primary interest lies in home

and specially in the kitchen.

,d vkSlr efgyk dh çkFkfed #fp ?kj vkSj fo'ks"kdj jlksbZ esa
gksrh gSA

21. In the question below are given two statements
followed by three conclusions numbered I, II and III.
All the things given in the statements given by you
are considered to be true, then the principle
conclusions are considered together and decided which
of them casts doubt on the principle given in the
statements. is/are.

uhps iz'u esa nks dFku vkSj mlds ckn I, II vkSj III Øekafdr rhu
fu"d"kZ fn, x, gSaA vkidks dFkuksa esa nh xbZ lHkh ckrksa dks lR; ekuuk
gS] fiQj rhuksa fu"d"kks± ij ,d lkFk fopkj djuk gS vkSj fu.kZ; ysuk gS
fd muesa ls dkSu&lk@ls dFkuksa esa nh xbZ tkudkjh ls mfpr lansg ls ijs
rk£dd :i ls vuqlj.k djrk@rs gS@gSaA

Statement/dFku%
I. Water has no shape, it has volume.

ikuh dk dksbZ vkdkj ugha gksrk] mldk vk;ru gksrk gSA
II. Knowledge is like water, which keeps flowing from

one side to the other.

Kku ikuh dh rjg gS] tks ,d rjiQ ls nwljh rjiQ cgrk jgrk gSA

Conclusion/fu"d"kZ:
I. Knowledge is interdisciplinary.

Kku var%'kkL=kh; gSA
II. Knowledge is limited to a specific scope.

Kku ,d fof'k"V nk;js esa lhfer gksrk gSA
III. Knowledge directly affects the core of mental

activity.

Kku izR;{k :i ls ekufld xfrfof/ ds ewy dks izHkkfor djrk gSA

UP Constable, 17/02/2024 (Shift 1)

(a) Both I and III follow.

I vkSj III nksuksa vuqlj.k djrs gSaA
(b) Both I and II follow.

I vkSj II nksuksa vuqlj.k djrs gSaA
(c) Only conclusion II follows.

dsoy fu"d"kZ II vuqlj.k djrk gSaA
(d) Only conclusion I follows.

dsoy fu"d"kZ I vuqlj.k djrk gSaA
22. In the question below is given a statement followed

by two conclusions numbered I and II. You have to
assume all the things given in the statements to be
true, then consider all three conclusions together and
decide which of them logically follows beyond
reasonable doubt from the information given in the
statements. is/are.

uhps iz'u esa ,d dFku vkSj mlds ckn I vkSj II Øekafdr nks fu"d"kZ
fn, x, gSaA vkidks dFkuksa esa nh xbZ lHkh ckrksa dks lR; ekuuk gS] fiQj
rhuksa fu"d"kks± ij ,d lkFk fopkj djuk gS vkSj fu.kZ; ysuk gS fd muesa
ls dkSu&lk@ls dFkuksa esa nh xbZ tkudkjh ls mfpr lansg ls ijs rk£dd
:i ls vuqlj.k djrk@rs gS@gSaA
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Statement/dFku%
The interview panel may select a candidate who neither
has the desired qualifications nor the values and
qualities.

lk{kkRdkj iSuy ,sls mEehnokj dk p;u dj ldrk gS ftlds ikl u
rks okafNr ;ksX;rk gS vkSj u gh ewY; vkSj xq.k gSaA

Conclusion/fu"d"kZ:
I. Inclusion of experts in the interview panel does

not guarantee that the selection will be fair.

lk{kkRdkj iSuy esa fo'ks"kKksa dks 'kkfey djuk ;g xkjaVh ugha nsrk
fd p;u mfpr gksxkA

II. Interview test has some limitations in terms of
selection of candidates.

mEehnokjksa ds p;u ds ekeys esa lk{kkRdkj ijh{kk dh dqN lhek,¡ gSaA

UP Constable, 17/02/2024 (Shift-2)

(a) Only conclusion I follows.

dsoy fu"d"kZ I vuqlj.k djrk gSaA
(b) Only conclusion II follows.

dsoy fu"d"kZ II vuqlj.k djrk gSaA
(c) Both I and II follow.

I vkSj II nksuksa vuqlj.k djrs gSaA
(d) Neither I nor II follows.

u rks I vkSj u gh II vuqlj.k djrk gSA
23. In the question below are given three statements

followed by two conclusions numbered I and II. You
have to assume all the things given in the statements
to be true, then consider all three conclusions together
and decide which of them logically follows beyond
reasonable doubt from the information given in the
statements. is/are.

uhps iz'u esa rhu dFku vkSj mlds ckn I vkSj II Øekafdr nks fu"d"kZ
fn, x, gSaA vkidks dFkuksa esa nh xbZ lHkh ckrksa dks lR; ekuuk gS] fiQj
rhuksa fu"d"kks± ij ,d lkFk fopkj djuk gS vkSj fu.kZ; ysuk gS fd muesa
ls dkSu&lk@ls dFkuksa esa nh xbZ tkudkjh ls mfpr lansg ls ijs rk£dd
:i ls vuqlj.k djrk@rs gS@gSaA

Statement/dFku%
I. Rabindranath Tagore wrote many poems.

johUnzukFk VSxksj us vusd dfork,¡ fy[khaA
II. Every poet has aesthetic knowledge.

izR;sd dfo ds ikl lkSUn;kZRed Kku gksrk gSA
III. Aesthetics is a part of value-dependent study.

lkSUn;Z'kkL=k ewY;kfJr vè;;u dk ,d Hkkx gSA

Conclusion/fu"d"kZ:
I. Rabindranath Tagore has done various value based

studies.

johUnzukFk VSxksj us fofHkÂ ewY;kfJr vè;;u fd;s gSaA
II. He followed the basis of logic and morality.

mUgksaus rdZ vkSj uSfrdrk ds vk/kj dk ikyu fd;kA

UP Constable, 18/02/2024 (Shift-1)

(a) Neither I nor II follows.

u rks I vkSj u gh II vuqlj.k djrk gSA
(b) Both I and II follow.

I vkSj II nksuksa vuqlj.k djrs gSaA
(c) Only conclusion II follows.

dsoy fu"d"kZ II vuqlj.k djrk gSaA
(d) Only conclusion I follows.

dsoy fu"d"kZ I vuqlj.k djrk gSaA
24. In the question below is given a statement followed

by two conclusions numbered I and II. You have to
assume all the things given in the statements to be
true, then consider all three conclusions together and
decide which of them logically follows beyond
reasonable doubt from the information given in the
statements. is/are.

uhps iz'u esa ,d dFku vkSj mlds ckn I vkSj II Øekafdr nks fu"d"kZ
fn, x, gSaA vkidks dFkuksa esa nh xbZ lHkh ckrksa dks lR; ekuuk gS] fiQj
rhuksa fu"d"kks± ij ,d lkFk fopkj djuk gS vkSj fu.kZ; ysuk gS fd muesa
ls dkSu&lk@ls dFkuksa esa nh xbZ tkudkjh ls mfpr lansg ls ijs rk£dd
:i ls vuqlj.k djrk@rs gS@gSaA

Statement/dFku%
If all the players play to their full potential then we
will win the match. We have won the match.

;fn lHkh f[kykM+h viuh iwjh {kerk ls [ksysaxs rks ge eSp thrsaxsA geus
eSp thr fy;k gSA

Conclusion/fu"d"kZ:
I. All the players played to their full potential.

lHkh f[kykfM+;ksa us viuh iwjh {kerk ls [ksykA
II. Some players did not play to their full potential.

dqN f[kykM+h viuh iwjh {kerk ls ugha [ksysA

UP Constable, 18/02/2024 (Shift 2)

(a) Only conclusion I follows.

dsoy fu"d"kZ I vuqlj.k djrk gSaA
(b) Only conclusion II follows.

dsoy fu"d"kZ II vuqlj.k djrk gSaA
(c) Both I and II follow.

I vkSj II nksuksa vuqlj.k djrs gSaA
(a) Neither I nor II follows.

u rks I vkSj u gh II vuqlj.k djrk gSA
25. In the question a statement is given followed by two

conclusions I and II. You have to consider the
statement to be true even if it seems to be at variance
from commonly known facts. You have to decide which
of the given conclusions follows from the given
statements. , if any, follows the given statement.

iz'u esa ,d dFku vkSj mlosQ ckn nks fu"d"kZ I vkSj II fn, x, gSa
vkidks bl dFku dks lR; ekuuk gksxk] Hkys gh ;g vke rkSj ij Kkr
rF;ksa ls vyx izrhr gksrk gks vkidks ;g r; djuk gS fd fn, x,
fu"d"kksa esa ls dkSu lk fu"d"kZ] ;fn dksbZ gS] fn, x, dFku dk
vuqlj.k djrk gSA

Statement/dFku%
No country is completely self-reliant these days.

dksbZ ns'k bu fnuksa iwjh rjg ls vkRefuHkZj ugha gSA

Conclusion/fu"d"kZ:
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I. It is impossible to grow and produce all the things
a country requires.

mu lHkh phtksa dks fodflr djuk vkSj mRiknu djuk vlaHko gS]
ftudh ns'k dks vko';drk gksrh gSA

II. In general the countrymen have become lazy.

vke rkSj ij ns'koklh vkylh gks x, gSaA

UP Constable

(a) Only conclusion I follows.

osQoy fu"d"kZ I vuqlj.k djrk gSA
(b) Only conclusion II follows.

osQoy fu"d"kZ II vuqlj.k djrk gSA
(c) Both I and II follow.

I vkSj II nksuksa vuqlj.k djrk gSaA
(d) Neither I nor II follows.

u rks I vkSj u gh II vuqlj.k djrk gSA
26. In the question a statement is given followed by two

arguments, I and II. You have to consider this
statement to be true, even if it seems to be at odds
with commonly known facts. You have to decide which
of the given arguments, if any, follows from the given
statement.

iz'u esa ,d dFku vkSj mlosQ ckn nks roZQ] I vkSj II fn, x, gSaA vkidks
bl dFku dks lR; ekuuk gksxk] Hkys gh ;g vke rkSj ij Kkr rF;ksa ls
vyx izrhr gksrk gksA vkidks ;g r; djuk gS fd fn, x, rdks± esa
dkSu&lk roZQ] ;fn dksbZ gS] fn, x, dFku dk vuqlj.k djrk gSA

Statement/dFku%
Should new big industries be started in Delhi?

D;k fnYyh esa u, cM+s m|ksx 'kq: fd, tkus pkfg,\

Conclusion/fu"d"kZ:
1. No, this will increase the pollution of the city.

ugha] blls 'kgj osQ iznw"k.k esa btkiQk gksxkA
2. Yes, it will provide employment opportunities.

gka] ;g jkstxkj osQ volj iznku djsxkA

UP Constable

(a) Only conclusion I follows.

osQoy fu"d"kZ I vuqlj.k djrk gSA
(b) Only conclusion II follows.

osQoy fu"d"kZ II vuqlj.k djrk gSA
(c) Both I and II follow.

I vkSj II nksuksa vuqlj.k djrs gSaA
(d) Neither I nor II follows.

u rks I vkSj u gh II vuqlj.k djrs gSA
27. In the question, two statements are given followed by

three conclusions I, II and III. You have to consider
the statement to be true even if it seems to be at
variance from commonly known facts. You have to
decide which of the given conclusions, if any, follow
from the given statements.

iz'u esa nks dFku vkSj mlosQ ckn rhu fu"d"kZ I, II vkSj III  fn, x,
gS vkidks bl dFku dks lR; ekuuk gksxk] Hkys gh ;g vke rkSj ij
Kkr rF;ksa ls vyx izrhr gksrk gksA vkidks ;g r; djuk gS fd fn,

x, fu"d"kks± esa ls dkSu&lk fu"d"kZ] ;fn dksbZ gS] fn, x, dFku dk
vuqlj.k djrk gSaA

Statement/dFku%
1. Many business offices are located in buildings

having 2 to 8 floors.

dbZ O;kolkf;d dk;kZy; 2 ls 8 eafty okys Hkouksa esa fLFkr gSA
2. If a building has more than 3 floors, it has a lift.

;fn fdlh Hkou esa 3 ls vf/d eaftysa gSa] rks blesa fyÝV gksrh gSA

Conclusion/fu"d"kZ:
I. All floors are accessible by lifts.

lHkh eaftyksa ij fyÝVksa }kjk igqapk tk ldrk gSA
II. Only the floors above the third floor have lifts.

osQoy rhljh eaftyksa osQ Åij okyh eaftyksa esa fyÝV gSA
III. There are lifts on the 7th floor.

7 oha eafty ij fyÝV gSaA

UP Constable

(a) Only conclusion I follows.

osQoy fu"d"kZ I vuqlj.k djrk gSA
(b) Only conclusion II follows.

osQoy fu"d"kZ II vuqlj.k djrk gSA
(c) Only conclusion III follows.

osQoy fu"d"kZ III vuqlj.k djrk gSA
(d) All three follow.

rhuksa vuqlj.k djrs gSaA
28. In the question a statement is given followed by two

conclusions I and II. You have to accept this statement
as true, even if it seems to be at odds with commonly
known facts. You have to decide which of the given
conclusions, if any, follow(s) from the given
statements.

iz'u esa ,d dFku vkSj mlosQ ckn nks fu"d"kZ I vkSj II fn, x, gSaA

vidksa bl dFku dks lR; ekuuk gksxk] Hkys gh ;g vke rkSj ij Kkr

rF;ksa ls vyx izrhr gksrk gksA vkidksa ;g r; djuk gS fd fn, x,

fu"d"kks± esa ls dkSu lk@ls fu"d"kZ] ;fn dksbZ gS] fn, x, dFku dk

vuqlj.k djrk@djrs gS@gSaA

Statement/dFku%
Quality has value. India is allocating a lot of funds for
education.

xq.koÙkk dk ewY; gksrk gSA Hkkjr f'k{kk osQ fy, cgqr lkjh fuf/
vkoafVr dj jgk gSA

Conclusion/fu"d"kZ:
I. The quality of education in India will improve soon.

Hkkjr esa f'k{kk dh xq.koÙkk tYn gh lq/j tk,xhA
II. Funding alone can increase the quality of

education.

vosQys foÙk iks"k.k f'k{kk dh xq.koÙkk esa òf¼ dj ldrk gSA

UP Constable

(a) Only conclusion I follows.

osQoy fu"d"kZ I vuqlj.k djrk gSA
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(b) Only conclusion II follows.

osQoy fu"d"kZ II vuqlj.k djrk gSA
(c) Both I and II follow.

I vkSj II nksuksa vuqlj.k djrk gSaA
(d) Neither I nor II follows.

u rks I vkSj u gh II vuqlj.k djrk gSA
29. In the question two statements are given followed by

three conclusions I, II and III. You have to consider
the statements to be true even if they seem to be at
odds with commonly known facts. it's up to you to
decide which of the given conclusions, if any, follows
from the given statements?

iz'u esa nks dFku vkSj mlosQ ckn rhu fu"d"kZ I, II vkSj III fn, x,

gSaA vkidks bl dFkuksa dks lR; ekuuk gksxk] Hkys gh ;g vke rkSj ij

Kkr rF;ks a ls vyx izrhr gkrk gksA vidks ;g r; djuk

gS fd fn, x, fu"d"kksa esa ls dkSulk@ls fu"d"kZ] ;fn dksbZ gS] fn, x,

dFkuksa dk vuqlj.k djrk@djrs gSa@gSA

Statement/dFku%
1. All books written by X are textbooks.

X }kjk fy[kh xbZ lHkh iqLrdsa ikB~;iqLrosaQ gSaA
2. Some of his books are published by ABC Publishing

Company.

mudh oqQN iqLrosQa ABC ifCyf'kax daiuh }kjk izdkf'kr djrh gSA

Conclusion/fu"d"kZ:
I. ABC Publishing Company publishes only

textbooks.

ABC izdk'ku daiuh dsoy ikB~;iqLrdksa dks izdkf'kr djrh gSA
II. Some textbooks written by Y have been published

by publishers other than ABC Publishing Company.

X }kjk fy[kh xbZ oqQN ikB~;iqLrdksa dks ABC ifCyf'kax daiuh

osQ vykok vU; izdk'kdksa }kjk izdkf'kr fd;k x;k gSA
III. ABC Publishing Company publishes some

important works written by X.

ABC ifCyf'kax daiuh X }kjk fy[ks x, oqQN egRoiw.kZ fl¼karksa

dks izdkf'kr djrh gSA

UP Constable

(a) Only conclusion I follows.

osQoy fu"d"kZ I vuqlj.k djrk gSA
(b) Only conclusion II follows.

osQoy fu"d"kZ II vuqlj.k djrk gSA
(c) Only conclusion III follows.

osQoy fu"d"kZ III vuqlj.k djrk gSA
(d) None of the three follows.

rhuksa esa ls dksbZ Hkh vuqlj.k ugha djrk gSA
30. In the question a statement is given followed by two

conclusions, I and II. You have to consider this
statement to be true, even if it seems to be at odds
with commonly known facts. You have to decide which
of the given conclusions, if any, follows from the given
statements.

iz'u esa ,d dFku vkSj mlosQ ckn nks fu"d"kZ] I vkSj II fn, x, gSaA
vkidks bl dFku dks lR; ekuuk gksxk] Hkys gh ;g vke rkSj ij Kkr
rF;ksa ls vyx izrhr gksrk gksA vkidksa ;g r; djuk gS fd fn, x,
fu"d"kks± esa ls dkSu&lk fu"d"kZ] ;fn dksbZ gS] fn, x, dFku dk
vuqlj.k djrk gSA

Statement/dFku%
Domestic demand for wheat is increasing faster than
its production.

xsgwa osQ mRiknu dh rqyuk esa mldh ?kjsyw ekax rsth ls c<+ jgh gSA

Conclusion/fu"d"kZ:
I. Domestic demand should be reduced.

?kjsyw ekax de dh tkuh pkfg,A
II. We should export wheat.

gesa xsgwa dk fu;kZr djuk pkfg,A

UP Constable

(a) Only conclusion I follows.

osQoy fu"d"kZ I vuqlj.k djrk gSA
(b) Only conclusion II follows.

osQoy fu"d"kZ II vuqlj.k djrk gSA
(c) Both I and II follow.

I vkSj II nksuksa vuqlj.k djrk gSaA
(d) Neither I nor II follows.

u rks I vkSj u gh II vuqlj.k djrk gSAS
31. In the question two statements are given followed by

three conclusions I, II and III. You have to consider
the statements to be true even if they seem to be at
odds with commonly known facts. You have to decide
which of the given conclusions, if any, follow from
the given statements.

iz'u esa nks dFku vkSj mlosQ ckn rhu fu"d"kZ I, II vkSj III fn, x,

gSaA vkidks bl dFkuksa dks lR; ekuuk gksxk] Hkys gh ;g vke rkSj ij

Kkr rF;ksa ls vyx izrhr gksrk gksA vkidks ;g r; dju gS fd fn,

x, fu"dk"kks± esa ls dkSu&lk fu"d"kZ] ;fn dksbZ gS] fn, x, dFkuksa dk

vuqlj.k djrk gSaA

Statement/dFku%
1. All the students in the class are intelligent.

d{kk esa lHkh Nk=k rhoz cqf¼ osQ gSaA
2. X is not intelligent.

X rhoz cqf¼ dk ugha gSA

Conclusion/fu"d"kZ:
I. Some students are not intelligent.

oqQN Nk=k rhoz cqf¼ osQ ugha gSaA
II. X must work hard.

X dks dM+h esgur djuh pkfg,A
III. X is not a student of that class

X ml d{kk dk Nk=k ugha gS

UP Constable

(a) Only conclusion I follows.

osQoy fu"d"kZ I vuqlj.k djrk gSA
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(b) Only conclusion II follows.

osQoy fu"d"kZ II vuqlj.k djrk gSA
(c) Only conclusion III follows.

osQoy fu"d"kZ III vuqlj.k djrk gSA
(d) None of the three follows.

rhuksa esa ls dksbZ Hkh vuqlj.k ugha djrk gSA
32. Given below is a statement followed by two conclusions

I and II. You have to consider this statement to be
true, even if it seems to be at odds with commonly
known facts. You have to decide which of the given
conclusions, if any, follow from the given statements.

uhps ,d dFku vkSj mlosQ ckn nks fu"d"kks± I vkSj II fn, x, gSaA
vkidks bl dFku dks lR; ekuuk gksxk] Hkys gh ;g vkerkSj ij Kkr
rF;ksa ls vyx izrhr gksrk gksA vkidksa ;g r; djuk gS fd fn, x,
fu"d"kks± esa ls dkSu lk fu"d"kZ] ;fn dksbZ gS] fn, x, dFkuksa dk
vuqlj.k djrk gSA

Statement/dFku%
Company ABC has marketed its product with the
following slogan. Go ahead_ If price and quality are
your priority then buy this.

daiuh ABC us fuEufyf[kr ukjs osQ lkFk vius mRikn dk foi.ku
fd;k gSA ¶vkxs c<+sa_ ;fn dher vkSj xq.koÙkk vkidh izkFkfedrk gS rks
bls [kjhnsa̧ A

Conclusion/fu"d"kZ:
I. The price of production should be high.

mRiknu dh dher vf/d gksuh pkfg,A
II. The quality of production should be good.

mRiknu dh xq.koÙkk vPNh gksuh pkfg,A

UP Constable

(a) Only conclusion I follows.

osQoy fu"d"kZ I vuqlj.k djrk gSA
(b) Only conclusion II follows.

osQoy fu"d"kZ II vuqlj.k djrk gSA
(c) Both I and II follow.

I vkSj II nksuksa vuqlj.k djrk gSaA
(d) Neither I nor II follows.

u rks I vkSj u gh II vuqlj.k djrk gSA
33. In the question a statement is given followed by three

conclusions, I, II and III. You have to consider this
statement to be true, even if it seems to be at odds
with commonly known facts. You have to decide which
of the given conclusions, if any, follows. Follows the
given statements.

iz'u esa ,d dFku vkSj mlosQ ckn rhu fu"d"kZ] I, II vkSj III fn, x,
gSaA vkidks bl dFku dks lR; ekuuk gksxk] Hkys gh ;g vke rkSj ij Kkr
rF;ksa ls vyx izrhr gksrk gksA vkidks ;g r; djuk gS fd fn, x,
fu"d"kksZ esa ls dkSulk fu"d"kZ] ;fn dksbZ gSA fn, x, dFkuksa dk vuqlj.k
djrk gSaA

Statement/dFku%
1. Every person should have his own identity card.

izR;sd O;fDr osQ ikl viuk igpku i=k gksuk pkfg,A
2. His blood group, complete address and telephone

number for contact in case of emergency should

be mentioned in that card.

vkikrdky osQ ekeys esa ml dkMZ esa mldk jDr lewg] laioZQ osQ
fy, iwjk irk vkSj VsyhiQksu uacj dk mYys[k fd;k tkuk pkfg,A

Conclusion/fu"d"kZ:
I. Blood cannot be donated unless its group is

mentioned in the card.

jDr rc rd iznku ugha fd;k tk ldrk] tc rd dkMZ esa mlosQ
lewg dk mYys[k ugha fd;k x;k gSA

II. No one should forget their phone number under

any circumstances.

fdlh Hkh ifjfLFkfr esa fdlh dks Hkh viuk iQksu uacj ugh Hkwyuk
pkfg,A

III. Police need this information if the injury is fatal.

;fn pksV ?kkrd gS rks iqfyl dks bl tkudkjh dh vko';drk
gksrh gSA

UP Constable

(a) Only conclusion I follows.

osQoy fu"d"kZ I vuqlj.k djrk gSA
(b) Only conclusion II follows.

osQoy fu"d"kZ II vuqlj.k djrk gSA
(c) Only conclusion III follows.

osQoy fu"d"kZ III vuqlj.k djrk gSA
(d) None of the three conclusions follow.

rhuksa fu"d"kks± esa ls dksbZ Hkh vuqlj.k ugha djrk gSA
34. Study the statement given below and select the

conclusion that logically agrees with the statement.

uhps osQ dFku dk vè;;u djsa vkSj mu fu"d"kZ dk p;u djsa tks
rkfoZQd :i ls dFku ls lger gksA

Statement/dFku%
If one apple is eaten every day, going to the doctor

can be avoided.

izfrfnu ,d lsc dk lsou vkidksa MkWDVj ls nwj j[krk gSA

Conclusion/fu"d"kZ:
I. Consuming an apple a day keeps you away from

the doctor.

;fn izR;sd fnu ,d lsc [kk;k tk;s rks MkWDVj osQ ikl tkus ls
cpk tk ldrk gSA

II. If you eat an orange every day you can fall ill.

;fn gj jkst ,d ukjaxh [kk;k tk;s rks chekj gks ldrs gSaA

UP Constable

(a) Only conclusion I agree.

fliZQ fu"d"kZ I lger gSA
(b) Only conclusion II is agreed.

fliZQ fu"d"kZ II lger gSA
(c) Neither conclusion I nor conclusion II follows.

u rks fu"d"kZ I vkSj uk gh II lger gSA
(d) Both conclusions I and II agree.

fu"d"kZ I vkSj II nksuksa lger gSaA



9

Rea
so

nin
g

by

Vi
kra

m
je
et

 s
ir

35. Read the statements and identify the logically correct
conclusion from the given information.

dFkuksa dks i<+sa vkSj nh xbZ tkudkjh ls rkfoZQd :i ls lgh fud"kZ dh
igpku djsaA

Statement/dFku%
Sleep is the beginning of health – it was written on
the wall of a hospital

¶LokLF; dh 'kq#vkr uhan gS¸& ,d vLirky dh nhokj ij fy[kk Fkk

Conclusion/fu"d"kZ:
I. If someone sleeps, all his diseases go away.

;fn dksbZ lks tk, rks mlosQ lkjs jksx nwj gks tkrs gSaA
II. Sleep is the medicine for all diseases.

uhan lHkh jksxksa dh nok gSA

UP Constable

(a) Only conclusion I follows.

osQoy fu"d"kZ I vuqlj.k djrk gSA
(b) Only conclusion II follows.

osQoy fu"d"kZ II vuqlj.k djrk gSA
(c) Either conclusion I or conclusion II follows.

;k rks fu"d"kZ I ;k fu"d"kZ II vuqlj.k djrk gSA
(d) Neither conclusion I nor II follows.

u rks fu"d"kZ I vkSj u gh II vuqlj.k djrk gSA

36. Statement/dFku%
A physician who fails to enter the patient's body with
the light of knowledge and wisdom can never cure the
patient.

,d fpfdRld tks Kku ,oa cqf¼ ds izdk'k ls jksxh ds 'kjhj esa izos'k
djus esa foiQy jgrk gS] jksxh dk mipkj dHkh ugha dj ldrkA

Conclusion/fu"d"kZ:
I. A doctor who enters the patient's body with the

light of knowledge and wisdom can always cure
him.

Kku ,oa cqf¼ ds izdk'k ls jksxh ds 'kjhj esa izos'k djus okyk
fpfdRld mldk ges'kk mipkj dj ldrk gSA

II. A doctor equipped with knowledge and wisdom can
be able to treat the patient.

Kku ,oa cqf¼ ls laiÂ fpfdRld jksxh dk mipkj djus esa leFkZ
gks ldrk gSA

UPSI Cancelled Exam

(a) Only conclusion I follows.

dsoy fu"d"kZ I vuqlj.k djrk gSA
(b) Only conclusion II follows.

dsoy fu"d"kZ II vuqlj.k djrk gSA
(c) Neither conclusion I nor conclusion II follows.

u rks fu"d"kZ I vkSj u gh fu"d"kZ II vuqlj.k djrk gSA
(d) Conclusion I and II follows.

fu"d"kZ I ,oa II vuqlj.k djrs gSaA

37. Statement/dFku%
Use of supernatural sources of energy will remove the
energy shortage.

ÅtkZ ds vykSfdd Ïksrksa dk iz;ksx ÅtkZ dh deh dks nwj dj nsxkA

Conclusion/fu"d"kZ:
I. Modern technology is gradually replacing super-

natural sources of energy.

vk/qfud rduhd /hjs&/hjs ÅtkZ ds vykSfdd Ïksr dk LFkku ys
jgh gSA

II. Over-exploitation of the environment is the cause
of depletion of the cosmic source of energy.

i;kZoj.k dk vfr nksgu ÅtkZ ds ykSfdd Ïksr ds {k; dk dkj.k gSA

UPSI Cancelled Exam

(a) Only conclusion I follows.

dsoy fu"d"kZ I vuqlj.k djrk gSA
(b) Only conclusion II follows.

dsoy fu"d"kZ II vuqlj.k djrk gSA
(c) Neither conclusion I nor conclusion II follows.

u rks fu"d"kZ I vkSj u gh fu"d"kZ II vuqlj.k djrk gSA
(d) Conclusion I and II follows.

fu"d"kZ I ,oa II vuqlj.k djrs gSaA

38. Statement/dFku%
The present Prime Minister has emphasized that his
government will make every effort for the upliftment
of farmers and the rural poor.

orZeku iz/kuea=kh us bl ckr ij tksj fn;k gS fd mudh ljdkj fdlkuksa
vkSj xzkeh.k xjhcksa ds mÂ;u gsrq iwjk iz;kl djsxhA

Conclusion/fu"d"kZ:
I. The previous government has made serious efforts

for the education of these people.

fiNyh ljdkj us bu yksxksa ds mÂ;u ds fy, xaHkhjrk ls iz;kl
fd, gSaA

II. This government will not make full efforts for the
upliftment of the urban poor.

;g ljdkj 'kgj xjhcksa ds mÂ;u ds fy, iwjk iz;kl ugha djsxhA

UPSI Cancelled Exam

(a) Only conclusion I follows.

dsoy fu"d"kZ I vuqlj.k djrk gSA
(b) Only conclusion II follows.

dsoy fu"d"kZ II vuqlj.k djrk gSA
(c) Only conclusion I or II follows.

dsoy fu"d"kZ I ;k II vuqlj.k djrk gSA
(d) Neither conclusion I nor conclusion II follows.

u rks fu"d"kZ I vkSj u gh fu"d"kZ II vuqlj.k djrk gSA

39. Statement/dFku%
A retail store announced a weekend discount of 50%
on the marked price of all food items.

,d [kqnjk LVksj us lIrkg ds var esa lHkh [kk| oLrqvksa ds vafdr ewY;
ij 50% dh NwV nsus dh ?kks"k.kk dhA

Conclusion/fu"d"kZ:
I. People will still prefer to buy food items from other

stores.

yksx fiQj Hkh nwljs LVksj ls gh [kk| oLrq [kjhnuk ilan djasxsA
II. A large number of consumers can go to retail stores

and buy food items.
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cgqr cM+h la[;k esa miHkksDrk [kqnjk LVksj tk ldrs gSa vkSj [kk|
oLrq [kjhn ldrs gSaA

UPSI Cancelled Exam

(a) Only conclusion I follows.

dsoy fu"d"kZ I vuqlj.k djrk gSA
(b) Only conclusion II follows.

dsoy fu"d"kZ II vuqlj.k djrk gSA
(c) Neither conclusion I nor conclusion II follows.

u rks fu"d"kZ I vkSj u gh fu"d"kZ II vuqlj.k djrk gSA
(d) Only conclusion I or II follows.

dsoy fu"d"kZ I ;k II vuqlj.k djrk gSA

40. Statement/dFku%
It is risky to get off a moving bus.

pyrh gqbZ cl ls mrjuk tksf[keiw.kZ gSA

Conclusion/fu"d"kZ:
I. Those who step off a moving bus run the risk of

injury.

tks pyrh gqbZ cl ls mrjrs gSa] os t[eh gksus dk tksf[ke mBkrs gSaA
II. Generally, people believe in air travel.

lkekU;r%] yksx gokbZ ;k=kk djus esa fo'okl j[krs gSaA

UPSI Cancelled Exam

(a) Only conclusion I follows.

dsoy fu"d"kZ I vuqlj.k djrk gSA
(b) Only conclusion II follows.

dsoy fu"d"kZ II vuqlj.k djrk gSA
(c) Both conclusion I and II follows.

fu"d"kZ I ,oa II nksuksa vuqlj.k djrs gSaA
(d) Neither conclusion I nor conclusion II follows.

u rks fu"d"kZ I vkSj u gh fu"d"kZ II vuqlj.k djrk gSA

41. Statement/dFku%
Traveling by metro in Delhi is more convenient and
economical.

fnYyh esa esVªks ls ;k=kk djuk vf/d lqfoèkktud vkSj fdiQk;rh gSA

Conclusion/fu"d"kZ:
I. Other means of transport are not available.

ifjogu ds vU; lk/u miyC/ ugha gSA
II. Metro service is overall good.

esVªks lsok dqy feykdj vPNh gSA

UPSI Cancelled Exam

(a) Only conclusion II is correct.

dsoy fu"d"kZ II lgh gSA
(b) Both conclusion I and II  are correct.

fu"d"kZ I ,oa II nksuksa lgh gSaA
(c) Only conclusion I is correct.

dsoy fu"d"kZ I lgh gSA
(d) Neither conclusion I nor conclusion II is correct.

u rks fu"d"kZ I vkSj u gh fu"d"kZ II lgh gSA
42. Consider both the following statements as correct.

fuEufyf[kr nksuksa dFkuksa dks lgh ekusaA
I. Unless Dara plays cricket, Amar will not play

cricket.

tc rd nkjk fØdsV ugha [ksyrk gS] vej fØdsV ugha [ksysxkA
II. Dara plays cricket only on Sunday. Tomorrow will

be Saturday.

nkjk dsoy jfookj dks fØdsV [ksyrk gSA dy 'kfuokj gksxkA
Which of the following conclusion is correct?

fuEufyf[kr esa ls dkSu&lk fu"d"kZ lgh gS\

UPSI

(a) Dara did not play cricket yesterday.

nkjk us dy fØdsV ugha [ksyk FkkA
(b) Dara will play cricket tomorrow.

nkjk dy fØdsV [ksysxkA
(c) Dara and Amar are in the same team.

nkjk vkSj vej ,d gh Vhe esa gSaA
(d) Dara played cricket yesterday.

nkjk us dy fØdsV [ksyk FkkA
43. ‘Only if Sumi goes to school will he have classes. If

Sumi wakes up early, he will go to school.’ If this is a
true statement, then which of the following conclusion
is correct?

^vxj lqeh Ldwy tkrk gS] rks gh mldh d{kk gksxhA vxj lqeh tYnh
mBrk gS] rks og Ldwy tk,xkA* ;fn ;g ,d lR; dFku gS] rks
fuEufyf[kr fu"d"kks± esa ls dkSu&lk lgh gS\

UPSI, 16/12/2017 (Shift-1)

(a) Sumi didn't have class, which meant he woke up
late.

lqeh dh d{kk ugha Fkh] eryc oks nsj ls mBk FkkA
(b) Sumi did not have classes, meaning he did not go

to school.

lqeh dh d{kk ugha Fkh] eryc oks Ldwy ugha x;k FkkA
(c) Sumi had gone to play cricket, which means he

had woken up early.

lqeh fØdsV [ksyus x;k Fkk] eryc oks tYnh mBk FkkA
(d) Sumi went to school on Monday, which means he

woke up early.

lqeh lkseokj dks Ldwy x;k Fkk] eryc oks tYnh mBk FkkA
44. In the question, a statement is given followed by two

conclusions I and II. You have to take the statement
to be true even if it seems to be at variance from
commonly known facts. You have to decide which of
the given conclusions, If any, follows the given
statement.

iz'u esa ,d dFku vkSj mlosQ ckn nks fu"d"kZ I vkSj II fn, x, gSa
vkidks bl dFku dks lR; ekuuk gksxk] Hkys gh ;g vke rkSj ij Kkr
rF;ksa ls vyx izrhr gksrk gks vkidks ;g r; djuk gS fd fn, x,
fu"d"kksa esa ls dkSu lk fu"d"kZ] ;fn dksbZ gS] fn, x, dFku dk
vuqlj.k djrk gSA

Statement/dFku%
No country is completely self-reliant these days.

dksbZ ns'k bu fnuksa iwjh rjg ls vkRefuHkZj ugha gSA

Conclusion/fu"d"kZ:
I. It is impossible to grow and produce all the things

a country needs.

mu lHkh phtksa dks fodflr djuk vkSj mRiknu djuk vlaHko gS]
ftudh ns'k dks vko';drk gksrh gSA
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II. In general, the countrymen have become lazy.

vke rkSj ij ns'koklh vkylh gks x, gSaA

UP Constable

(a) Only conclusion I follows.

osQoy fu"d"kZ I vuqlj.k djrk gSA
(b) Only conclusion II follows.

osQoy fu"d"kZ II vuqlj.k djrk gSA
(c) Both I and II follow.

I vkSj II nksuksa vuqlj.k djrk gSaA
(d) Neither I nor II follows.

u rks I vkSj u gh II vuqlj.k djrk gSA
45. In the question a statement is given followed by two

arguments, I and II. You have to consider this
statement to be true, even if it seems to be at odds
with commonly known facts. You have to decide which
of the given arguments, if any, follows the given
statement.

iz'u esa ,d dFku vkSj mlosQ ckn nks roZQ] I vkSj II fn, x, gSaA vkidks
bl dFku dks lR; ekuuk gksxk] Hkys gh ;g vke rkSj ij Kkr rF;ksa ls
vyx izrhr gksrk gksA vkidks ;g r; djuk gS fd fn, x, rdks± esa
dkSu&lk roZQ] ;fn dksbZ gS] fn, x, dFku dk vuqlj.k djrk gSA

Statement/dFku%
Should new big industries be started in Delhi?

D;k fnYyh esa u, cM+s m|ksx 'kq: fd, tkus pkfg,\

Conclusion/fu"d"kZ:
1. No, this will increase pollution in the city.

ugha] blls 'kgj osQ iznw"k.k esa btkiQk gksxkA
2. Yes, it will provide employment opportunities.

gka] ;g jkstxkj osQ volj iznku djsxkA

UP Constable

(a) Only conclusion I follows.

osQoy fu"d"kZ I vuqlj.k djrk gSA
(b) Only conclusion II follows.

osQoy fu"d"kZ II vuqlj.k djrk gSA
(c) Both I and II follow.

I vkSj II nksuksa vuqlj.k djrs gSaA
(d) Neither I nor II follows.

u rks I vkSj u gh II vuqlj.k djrs gSA
46. In the question, two statements are given followed by

three conclusions I, II and III. You have to take the
statement to be true even if it seems to be at odds
with commonly known facts. You have to decide which
of the given conclusions, if any, follow from the given
statements.

iz'u esa nks dFku vkSj mlosQ ckn rhu fu"d"kZ I, II vkSj III  fn, x,
gS vkidks bl dFku dks lR; ekuuk gksxk] Hkys gh ;g vke rkSj ij
Kkr rF;ksa ls vyx izrhr gksrk gksA vkidks ;g r; djuk gS fd fn,
x, fu"d"kks± esa ls dkSulk fu"d"kZ] ;fn dksbZ gS] fn, x, dFku dk
vuqlj.k djrk gSaA

Statement/dFku%
1. Many business offices are located in buildings

having 2 to 8 floors.

dbZ O;kolkf;d dk;kZy; 2 ls 8 eafty okys Hkouksa esa fLFkr gSA

2. If a building has 3 floors, it has lifts.

;fn fdlh Hkou esa 3 eaftysa gSa] rks blesa fyÝV gksrh gSA

Conclusion/fu"d"kZ:
I. All floors are accessible by lifts.

lHkh eaftyksa ij fyÝVksa }kjk igqapk tk ldrk gSA
II. Only the floors above the 3rd floor have lifts.

osQoy rhljh eaftyksa osQ Åij okyh eaftyksa esa fyÝV gSA
III. There are lift on 7th floor.

7 oha eafty ij fyÝV gSaA

UP Constable

(a) Only conclusion I follows.

osQoy fu"d"kZ I vuqlj.k djrk gSA
(b) Only conclusion II follows.

osQoy fu"d"kZ II vuqlj.k djrk gSA
(c) Only conclusion III follows.

osQoy fu"d"kZ III vuqlj.k djrk gSA
(d) All three follow.

rhuksa vuqlj.k djrs gSaA
47. In the question, a statement is given followed by two

conclu-sions I and II. You have to accept this statement
as true, even if it seems to be at odds with commonly
known facts. You have to decide which of the given
conclusions, if any, follow(s) from the given
statements.

iz'u esa ,d dFku vkSj mlosQ ckn nks fu"d"kZ I vkSj II fn, x, gSaA
vidksa bl dFku dks lR; ekuuk gksxk] Hkys gh ;g vke rkSj ij Kkr
rF;ksa ls vyx izrhr gksrk gksA vkidksa ;g r; djuk gS fd fn, x,
fu"d"kks± esa ls dkSulk@ls fu"d"kZ] ;fn dksbZ gS] fn, x, dFku dk
vuqlj.k djrk@djrs gS@gSaA

Statement/dFku%
Quality has value. India is allocating a lot of funds for
education.

xq.koÙkk dk ewY; gksrk gSA Hkkjr f'k{kk osQ fy, cgqr lkjh fuf/
vkoafVr dj jgk gSA

Conclusion/fu"d"kZ:
I. The quality of education in India will improve soon.

Hkkjr esa f'k{kk dh xq.koÙkk tYn gh lq/j tk,xhA
II. Funding alone can enhance the quality of Shikha.

vosQys foÙk iks"k.k f'k{kk dh xq.koÙkk esa òf¼ dj ldrk gSA

UP Constable

(a) Only conclusion I follows.

osQoy fu"d"kZ I vuqlj.k djrk gSA
(b) Only conclusion II follows.

osQoy fu"d"kZ II vuqlj.k djrk gSA
(c) Both I and II follow.

I vkSj II nksuksa vuqlj.k djrk gSaA
(d) Neither I nor II follows.

u rks I vkSj u gh II vuqlj.k djrk gSA
48. In the question two statements are given followed by

three conclusions I, II and III. You have to consider
the statements to be true even if they seem to be at
odds with commonly known facts. You have to decide
which of the given conclusions, if any, follow(s) from
the given statements.
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iz'u esa nks dFku vkSj mlosQ ckn rhu fu"d"kZ I, II vkSj III fn, x,
gSaA vkidks bl dFkuksa dks lR; ekuuk gksxk] Hkys gh ;g vke rkSj ij
Kkr rF;ksa ls vyx izrhr gkrk gksA vidks ;g r; djuk gS fd fn, x,
fu"d"kksa esa ls dkSulk@ls fu"d"kZ] ;fn dksbZ gS] fn, x, dFkuksa dk
vuqlj.k djrk@djrs gSa@gSA

Statement/dFku%
1. All books written by X are textbooks.

X }kjk fy[kh xbZ lHkh iqLrdsa ikB~;iqLrosaQ gSaA
2. Some of his books are published by ABC Publishing

Company.

mudh oqQN iqLrosQa ABC ifCyf'kax daiuh }kjk izdkf'kr djrh gSA

Conclusion/fu"d"kZ:
I. ABC Publishing Company publishes only

textbooks.

ABC izdk'ku daiuh dsoy ikB~;iqLrdksa dks izdkf'kr djrh gSA
II. Some textbooks written by X have been published

by publishers other than ABC Publishing Company.

X }kjk fy[kh xbZ oqQN ikB~;iqLrdksa dks ABC ifCyf'kax daiuh
osQ vykok vU; izdk'kdksa }kjk izdkf'kr fd;k x;k gSA

III. ABC Publishing Company publishes some
important principles written by X.

ABC ifCyf'kax daiuh X }kjk fy[ks x, oqQN egRoiw.kZ fl¼karksa
dks izdkf'kr djrh gSA

UP Constable

(a) Only conclusion I follows.

osQoy fu"d"kZ I vuqlj.k djrk gSA
(b) Only conclusion II follows.

osQoy fu"d"kZ II vuqlj.k djrk gSA
(c) Only conclusion III follows.

osQoy fu"d"kZ III vuqlj.k djrk gSA
(d) None of the three follows.

rhuksa esa ls dksbZ Hkh vuqlj.k ugha djrk gSA
49. In the question a statement is given followed by two

conclusions, I and II. You have to consider this
statement to be true, even if it seems to be at odds
with commonly known facts. You have to decide which
of the given conclusions, if any, follows from the given
statements.

iz'u esa ,d dFku vkSj mlosQ ckn nks fu"d"kZ] I vkSj II fn, x, gSaA
vkidks bl dFku dks lR; ekuuk gksxk] Hkys gh ;g vke rkSj ij Kkr
rF;ksa ls vyx izrhr gksrk gksA vkidksa ;g r; djuk gS fd fn,f x,
fu"d"kks± esa ls dkSu&lk fu"d"kZ] ;fn dksbZ gS] fn, x, dFku dk
vuqlj.k djrk gSA

Statement/dFku%
Domestic demand for wheat is increasing faster than
its production.

xsgwa osQ mRiknu dh rqyuk esa mldh ?kjsyw ekax rsth ls c<+ jgh gSA

Conclusion/fu"d"kZ:
I. Domestic demand should be reduced.

?kjsyw ekax de dh tkuh pkfg,A
II. We should export wheat.

gesa xsgwa dk fu;kZr djuk pkfg,A

UP Constable

(a) Only conclusion I follows.

osQoy fu"d"kZ I vuqlj.k djrk gSA
(b) Only conclusion II follows.

osQoy fu"d"kZ II vuqlj.k djrk gSA
(c) Both conclusion I and II follow.

I vkSj II nksuksa vuqlj.k djrk gSaA
(d) Neither I nor II follows.

u rks I vkSj u gh II vuqlj.k djrk gSAS
50. In the question two statements are given followed by

three conclusions I, II and III. You have to consider
the statements to be true even if they seem to be at
odds with commonly known facts. You have to decide
which of the given conclusions, if any, follow from
the given statements.

iz'u esa nks dFku vkSj mlosQ ckn rhu fu"d"kZ I, II vkSj III fn, x,
gSaA vkidks bl dFkuksa dks lR; ekuuk gksxk] Hkys gh ;g vke rkSj ij
Kkr rF;ksa ls vyx izrhr gksrk gksA vkidks ;g r; dju gS fd fn, x,
fu"dk"kks± esa ls dkSu&lk fu"d"kZ] ;fn dksbZ gS] fn, x, dFkuksa dk
vuqlj.k djrk gSaA
Statement/dFku%
1. All the students in the class are intelligent.

d{kk esa lHkh Nk=k rhoz cqf¼ osQ gSaA
2. X is not intelligent.

X rhoz cqf¼ dk ugha gSA
Conclusion/fu"d"kZ:
I. Some students are not intelligent.

oqQN Nk=k rhoz cqf¼ osQ ugha gSaA
II. X should work hard.

X dks dM+h esgur djuh pkfg,A
III. X is not a student of that class.

X ml d{kk dk Nk=k ugha gS

UP Constable

(a) Only conclusion I follows.

osQoy fu"d"kZ I vuqlj.k djrk gSA
(b) Only conclusion II follows.

osQoy fu"d"kZ II vuqlj.k djrk gSA
(c) Only conclusion III follows.

osQoy fu"d"kZ III vuqlj.k djrk gSA
(d) None of the three follows.

rhuksa esa ls dksbZ Hkh vuqlj.k ugha djrk gSA
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Answer with Explanation

1. (b) fn;k x;k statement ljdkj dh carbon emisson dh uhfr dk
o.kZu djrk gSA

cfYd fn;k x;k conclusion (I) ,oa (II) esa thok'e bZa/u (fossil

fuels) ,oa fctyh la;a=kksa (power plant) ds mi;ksx dks ban djus
dh ckr dh x;h gSA tks fn, x, statement dks satisfy ugha djrk
gSA

Neither conclusion I nor conclusion II follows.

u rks fu"d"kZ I vkSj u gh fu"d"kZ II vuqlj.k djrk gSA
2. (d) fn, x, statement esa explain fd;k x;k gS fd ¶fdlh dks Hkh

20]000 #i;s ls vf/d dh jkf'k fudkyus dh permission ugha nh
tk,xh¸ tks wrong gSA dsoy conclusion (II), tks statement

esa already fufgr gS] statement dks satisfy djrk gSA
Only Conclusion II follows.

dsoy fu"d"kZ II vuqlj.k djrk gSA

3. (c) jkstxkj ?kVus ds ckn Hkh ns'k 'k' ds ikl vUrjkZ"Vªh; cktkj ds leku
:i ls ;ksxnku tkjh j[kus ds fy, i;kZIr dqEgkj gSaA ;g fu"d"kZ lgh
gSA blh dkj.k fiNys 15 o"kks± ls yxkrkj 75% mRikn dh iwfrZ dj jgh
gSA rFkk ns'k 'k' esa feV~Vh ds crZuksa dh LFkkuh; ek=kk esa dkiQh deh vk;h
bldk ftØ dFku esa ugha fd;k x;kA vr% ;g fu"d"kZ xyr gksxkA

vr% 'c' dsoy fu"d"kZ I fudkyk tk ldrk gSA
4. (b) According to statement

P - 

S

– –
Conclusion:

I. P, dk R ls dksbZ Relation ugh fn;k x;k gSA vr% ;g xyr gksxkA
II. S, dk Gender Li"V ugha gSA vr% ;g Hkh xyr gksxkA

vr% option 'b' u gh conclusion I vkSj u gh conclusion II

follow djrk gSA
5. (b) India vusd Hkk"kkvksa dh country gSA blls ;g conclusion ugha

fudkyk tk ldrk fd lHkh indian lHkh language cksy ldrs gSa
vkSj u gh ;g dgk tk ldrk gS fd izR;sd country esa dbZ
language cksyh tkrh gSA
vr% option 'b' Neither conclusion I nor II follows.

6. (d) yksxksa dks rk¡cs ds crZu esa j[ks gq, milk dk lsou djuk pkfg,] fdarq
poison ds lsou ls cpuk pkfg, ,slk dFku esa dgha ugha dgk x;kA

vr% option 'd' only conclusion I follow.

7. (d) Statement esa nh xbZ information ds  according ;g
conclusion ugha fudkyk tk ldrk gSA Oceans Uranium dk
,d  Cheap Source gS] D;ksafd Mostely minerals egklkxjksa esa
similar concentration level ij miyC/ gS] ,oa Ocean harbour

(egklkxj cUnjxkgksa) dks  radiation dk [krjk gSA ;g dFku esa nh
xbZ tkudkjh ls laca/ ugha j[krs gSA
vr% option 'd' neither conclusion I nor II follow.

8. (e) Statement esa Li"V :i ls bl rF; ij tksj fn;k x;k gS fd
National needs ij è;ku nsuk Space Research Programme

dh rqyuk esa dgha vf/d egRoiw.kZ gSA blfy, Reaserch, National

needs ds vuqdwy gksuk pkfg,A
vr% option 'e' both conclusion I & II follow.

9. (d) ;g dguk dh dkuwu vkSj vf/fu;e rS;kj fd;s tk, fdUrq mUgsa ykxw
uk fd;k tk, rks dkuwu cukus dk mís'; D;k gksxk] ,oa Hkz"V dk;Ziz.kkyh
dh tk¡p djus ds fy, Li"V fof/ gksuh pkfg,A dgus dk eryc gS fd
orZeku esa ,slh dksbZ fof/ ugha gS] tks fd xyr gh gSA
vr% option 'd' neither conclusion I nor II follow.

10. (c) Statement ds vuqlkj Mr. 'X' dks nks esa ls fdlh ,d in ds fy,
ukfer fd;k tkuk gSA mlds fy, mUgsa ;k rks /kfeZd vYila[;d
leqnk; dh lnL; ;k vuqlwfpr tkfr ;k vuqlwfpr tu tkfr dk lnL;
gksuk pkfg,A
vr% option 'c' either conclusionI or II follow.

11. (a) Statement esa dgh xbZ ckr dks lR; ekurs gq, ;g conclusion

fudkyk tk ldrk gS] fd lkekU; izf'kf{kr MkWDVj vius is'ks ds izfr
vf/d lefiZr gSA blfy, muds O;olk; dks c<+kok fn;k tkuk pkfg,]
fdUrq Extra ordinary specialist Doctors vius O;olk; dks
ysdj Dedicated ugha gSA bldk ftØ dFku esa ugha gqvk gSA
vr% option 'a' only conclusion I follow.

12. (c) Statement esa nh xbZ tkudkjh ds vuqlkj ;g dg ikuk fd Mr. 'x'

dqN favour ekaxus ds fy, Chief minister ls feys ;k ugha dg
ikuk  laHko ugha] fdUrq nksuksa conclusion esa ls dksbZ ,d gksxk ;s lgh
gSA
vr% option 'c' either conclusion I or II follow.

13. (d) ;fn dksbZ company 3 n'kdksa ls vf/d le; ls mtkZ laj{k.k] blds
dq'ky mi;ksx vkSj izca/u ds fy, lefiZr gSA rks mlds ikl fuf'pr
:i ls blds ckjs esa cgqr lkjh fo'ks"kKrk vkSj Kku ds lkFk&lkFk
cqfu;knh phtksa dk lekos'k gSA
vr% option 'd' neither conclusion I nor II follow.

14. (b) ge bl statement ls ;g conclusion ugha fudky ldrs gSa fd
1950 ls igys xjhch dk dksbZ loky gh ugha Fkk] D;ksafd statement

1950 ls igys dh dksbZ ppkZ ugha dh xbZ gSA fdUrq 1950 ls 1980

ds chp xjhch dk o.kZu djus okyh fliQZ ,d gh iqLrd gSA bldk
o.kZu statement esa fd;k x;k gSA
vr% option 'b' only II conclusion follow.

15. (e) Statement esa clearly, dgk x;k gS] fd fyf[kr ijh{kk ds fy,
dksbZ Hkh ik=k gksxkA tc ;g ;ksX;rk ekunaMks dks iwjk djsxk vkSj r;
frfFk esa vkosnu fd;k gksxk rFkk fyf[kr ijh{kk vkosnu ds lR;rk dh
tk¡p djus ds ckn gh vk;ksftr gksrh gSA ;g nksuksa ckrs lgh gSA
vr% option 'e' both conclusion I and II follow.

16. (d) Statement ds according] dqy juksa esa ls 80» ju fLiujksa }kjk
cuk, x, gSaA blls ge ;s fu"d"kZ ugha fudky ldrs fd Team esa
80» spinner Fks] vkSj u gh statement esa oppnners batsman

ds ckjs esa ftØ gqvk gSA rks ;s dguk oppner batsman, spinners

gSaA ;s lgh ugha gSA
vr% option 'd' neither conclusion I nor II follow.

17. (a) le; ds lkFk&lkFk lksp esa Hkh cnyko vkrk gS vkSj iqjkus fopkjksa dh
txg u;s fopkj vkrs gSaA blfy,] ge dg ldrs gSa fd cnykc izÑfr
dk fu;e gS] fdUrq dksbZ Idea iqjkuk gSA blfy, mls discard dj nsuk
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pkfg,A ;g xyr gS D;ksafd ge dbZ iqjkus fopkjksa dks viukrs vk jgs
gSaA tks lekt ds fy, ykHknk;d gSaA
vr% option 'a' only conclusion I follow.

18. (e) Statement esa clearly dgk x;k gS fd financial institutions

ds directors ds :i esa bureaucrats  dh fu;qfÙkQ us mUgsa •jkc
dj fn;k gSA  bldk Li"V conclusion ;g gS fd finance esa
fo'ks"kKrk okys yksxksa dks fu;qÙkQ fd;k tkuk pkfg, vkSj institutions

ds directors dks institutions ds foÙkh; dk;ks± ls vPNh rjg
ifjfpr gksuk pkfg,A
vr% option 'e' both conclusion I and II follow.

19. (b) Statement esa clearly fudV Hkfo"; esa tula[;k c<+us ds ckjs esa
ftØ fd;k x;k gSA ysfdu conclusion I blds foijhr gS] fdUrq
developing countries dh governments thou dh lH;
xq.koÙkk nsus esa l{ke ugha gksaxh] tSlk fd dFku ls fu"d"kZ fudkyk tk
ldrk gS D;ksafd lalk/u de gks jgs gSa vkSj tula[;k c<+ jgh gSA
vr% option 'b' only II conclusion follow.

20. (b) Statement esa Womens ds fy,  TV dk;ZØe fofHkUu izdkj ds
O;atuksa vkSj ?kjsyw ladsrksa ls Hkjs gq, gSA blfy, igys conclusion esa
;g crk;k x;k gS fd efgyk nwljh phtksa esa dksbZ fnypLih ugha gSA
bldh statement esa ppkZ ugha dh xbZ gSA ysfdu vkSlr efgykvksa
dh izkFkfed :fp ?kj vkSj fo'ks"kdj jlksbZ esa gksrh gSA bldh ppkZ
statement esa dh xbZ gSA
vr% option 'b' only II conclusion follow.

21. (a) fn;s x;s dFku ds vuqlkj ;g fu"d"kZ fudkyk tkuk dh Kku ,d

fof'k"V nk;js esa lhfer gksrk gS ;g xyr gSA ckfd I vkSj III fu"d"kZ

Kku var% 'kkL=kh; gS ,oa Kku izR;{k :i ls ekufld xfrfof/ ds ewy

dks izHkkfor djrk gSA ;g lgh gSA

22. (a) I. dsoy fu"d"kZ (I) vuqlj.k djrk gSA D;ksafd lk{kkRdkj iSuy ,sls

mEehnokj dk p;u dj ldrk gSA ftlds ikl uk rks ckafNr

;ksX;rk gSA vkSj u gh ewY; vkSj xq.k gSA blls ;g lkspk tk ldrk

gSA fd lk{kkRdkj iSuy esa fo'ks"kKks dks 'kkfey djuk ;g xkajVh

ugh nsrk fd p;u mfpr gksxkA

II. mEehnokjks ds p;u ds ekeys esa lk{kkRdkj ijh{kk dh dqN lhek,¡

gSA bl fu"d"kZ ls lacaf/r fdlh izdkj dh tkudkjh ugh nh xbZ gSA

dsoy fu"d"kZ I vuqlj.k djrk gSA

23. (d) dFku esa nh xbZ tkudkjh ds vk/kj ij fu"d"kZ-I jfoUnzukFk VSxksj us

fofHkUu ewY;kfJr vè;;u fd;s gS D;ksafd lkSan;Z'kkL=k vè;;u dk ,d

Hkkx gS vkSj jfoUnzukFk VSxksj ds ikl lkSan;kZRed Kku gSa blfy, ;g

fu"d"kZ-I vuqlj.k djrk gSA fdUrq fu"d"kZ-II mUgksaus rdZ vkSj uSfrdrk ds

vk/kj dk ikyu fd;k gks ;g dFku ls vuqlj.k ugh djrk vr% dsoy

fu"d"kZ I vuqlj.k djrk gSA

24. (a) dFku esa lkiQ rkSj ij ;g bafxr fd;k x;k gS ;fn lHkh f[kykM+h viuh

iwjh {kerk ds lkFk [ksysaxs rks ge eSp thr tk;sxs vkSj og eSp thr Hkh

x;s bldk fu"d"kZ-I lHkh f[kykM+h us viuh iwjh {kerk ls [ksyk rHkh os

eSp thr lds lgh gSA

fu"d"kZ-II dqN f[kykM+h viuh iwjh {kerk ls ugha [ksys ;g dFku esa dksbZ

mYys[k ugha gSA

dsoy fu"d"kZ I vuqlj.k djrk gSA

25. (a) fu"d"kZ I ds vuqlkj fdlh Hkh Hkh ns'k ds  }kjk lHkh vko';d oLrqvksa
dk mRiknu vdsys dj ikuk laHko ugha gSA iQyr% mls nwljs ns'kksa ij

fuHkZj jguk iM+rk gSA blfy, fu"d"kZ I vuqlj.k djrk gSA

fu"d"kZ II  vkerkSj ij ns'koklh vkylh gks x;s gSa] dk mYys[k dFku esa
ugha fd;k x;k gSA blfy, ;g fu"d"kZ vuqlj.k ugha djrk gSA

vr% fu"d"kZ I vuqlj.k djrk gSA

26. (b) fu"d"kZ I : u;s cM+s m|ksx ls iznw"k.k gksxk ;g iw.kZr% lR; ugha gS] D;ksafd
ge ;g ugha dg ldrs gSa fd dsoy lHkh cM+s m|ksx iznw"k.k dk dkj.k
cusaxs iznw"k.k ds dkj.k vkSj Hkh gks ldrs gSA

fu"d"kZ II : tc Hkh u, m|ksx yxk, tkrs gSa rks jkstxkj ds u, volj
iSnk gksrs gSaA

vr% fu"d"kZ II vuqlj.k djrk gSA

27. (c) fu"d"kZ I : lHkh eafty ij fyÝV ds }kjk igq¡pk tk ldrk gS ;g xyr
gS D;ksafd dFku II esa Li"V dgk x;k gS fd mlh Hkou esa fyÝV yxh
gS ftlesa rhu eafty gSaA

fu"d"kZ II : dsoy rhljh eaftyksa ds Åij okyh eaftyksa esa fyÝV gS ;g
fu"d"kZ xyr gSA D;ksafd ;fn fyÝV miyC/ gksxh rks lHkh eafty ds
fy, gksaxs vU;Fkk ugha gksaxhA

fu"d"kZ III: 7oha eaftyksa ij fyÝV gksxh ;g fu"d"kZ fcYdqy lgh gS
D;ksafd dFku 2 esa Li"V gS fd ;fn fdlh bekjr esa 3 ls vf/d eaftysa
gS rks mlesa fyÝV gSA

vr% fu"d"kZ III vuqlj.k djrk gSA

28. (a) fu"d"kZ I: dFku ds vuqlkj Hkkjr f'k{kk ds fy, cgqr lkjh fuf/

vkoafVr dj jgk gS ftlls ;g fu"d"kZ fuf'pr :i ls fudkyk tk

ldrk gS] fd Hkkjr esa f'k{kk dh xq.koÙkk esa tYn gh lq/kj vk,xk

blfy, dFku lgh gSA

fu"d"kZ II : vdsys foÙk iks"k.k f'k{kk dh xq.koÙkk esa lq/kj djsxk ;g

fu"d"kZ xyr gksxk D;ksafd mlds fy, dbZ vU; dkjd tSls&fo|ky;

dh fu;fer tk¡p] l[r fu;e] vè;kid vkSj cPpksa esa vuq'kklu o

f'k{kk ds izfr bZekunkj iz'kklu vkfn dh Hkh vko';drk iM+rh gSA

blfy, ;g fu"d"kZ xyr gSA

vr% dsoy fu"d"kZ I vuqlj.k djrk gSA

29. (b) fu"d"kZ I: ;g fuf'pr :i ls ugha dgk tk ldrk gS fd ABC izdk'ku

daiuh dsoy ikB;iqLrd dks çdkf'kr djrh gSA blfy, fu"d"kZ I

vuqlj.k ugha djrk gSA

fu"d"kZ II : X }kjk fy[kh xbZ oqQN ikB~;iqLrdksa dks ABC ifCyf'kax

daiuh osQ vykok vU; izdk'kdksa }kjk izdkf'kr fd;k x;k gSA vr% nh

xbZ tkudkjh ds vuqlkj conc. II vuqlj.k djrk gSA

fu"d"kZ III: ABC çdk'ku oaQiuh X }kjk fy[ks x;s dqN egRoiw.kZ

fl¼karksa dks izdkf'kr djrh gSA ;g fu"d"kZ xyr gS D;ksafd fn, x,

dFku esa egRoiw.kZ fl¼karksa dks izdkf'kr djus dk dksbZ mYys[k ugha gSA

vr% dsoy fu"d"kZ II vuqlj.k djrk gSA
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30. (d) fu"d"kZ  I : ?kjsyw ekax de dh tkuh pkfg,A ;g conc. xyr gS D;ksafd

ge ?kjsyw ekax dks de ugha dj ldrs gSaA

fu"d"kZ  II : bl fu"d"kZ esa gesa xsgw¡ dk fu;kZr djus dk dksbZ mYys[k ugha

gSA

vr% u rks fu"d"kZ I u gh  fu"d"kZ II vuqlj.k djrk gSA

31. (c) fu"d"kZ  I : dqN Nk=k rhoz cqf¼ ds ugha gSA ;g fu"d"kZ xyr gS D;ksafd
dFku 1 esa Li"V dgk x;k gS fd d{kk esa lHkh Nk=k rhoz cqf¼ ds gSaA

fu"d"kZ  II : X dks dM+h esgur djuh pkfg, bldk dFkuksa esa mYys[k
ugha gS] blfy, ;g fu"d"kZ  xyr gSA

fu"d"kZ  III : X ml d{kk dk Nk=k ugha gS] ;g fu"d"kZ  lgh gS D;ksafd
dFku esa Li"V dgk x;k gS fd d{kk esa lHkh Nk=k rhoz cqf¼ ds gSaA vr%
dsoy fu"d"kZ  III vuqlj.k djrk gSA

32. (b) fu"d"kZ I : mRiknu dh dher vf/d gksuh pkfg,] ;g fu"d"kZ xyr gS
D;ksafd dFku esa bldk dksbZ mYys[k ugha gSA blfy, fu"d"kZ  I vuqlj.k
ugha djrk gSA

fu"d"kZ II : dFku esa Li"V dgk x;k gS fd mRiknu vPNh xq.koÙkk dk
gSA blfy, fu"d"kZ  II vuqlj.k djrk gSA

33. (c) fu"d"kZ I: dFku esa fcuk CyM xzqi tkus O;fDr dks jDr iznku djus dh
ckr ugha dh xbZ gSA vr% ;g fu"d"kZ  xyr gSA

fu"d"kZ II: fdlh Hkh ifjfLFkfr esa fdlh dks Hkh viuk eksckby uacj ugha
Hkwyuk pkfg, bldk Hkh mYys[k dFku esa ugha gqvk gSA blfy, ;g

fu"d"kZ II Hkh xyr gSA

fu"d"kZ III : fdlh vkikr fLFkfr tSls ?kkrd pksV ds le; iqfyl dks
vkids lgh igpku dh vko';drk gksrh gS rkfd og vkids ifjokj
dks lwfpr dj mfpr dkjZokbZ dj ldsA ;g fu"d"kZ  lgh gSA vr% ;g
fu"d"kZ III vuqlj.k djrk gSA

34. (a) fu"d"kZ I : ;fn izR;sd fnu ,d lsc [kk;k tk, rks MkWDVj ds ikl tkus
ls cpk tk ldrk gSA ;g fu"d"kZ  lgh gS D;ksafd dFku  I esa Li"V :i
ls ;g dgk x;k gSA

fu"d"kZ II: dFku esa ukjaxh vFkok ukjaxh [kkus ls lacaf/r dksbZ mYys[k
ugh dgk x;k gSA blfy, fu"d"kZ II vuqlj.k ugha djrk gSA

vr% fu"d"kZ I vuqlj.k djrk gSA

35. (d) fu"d"kZ I : ;fn dksbZ lks tk, rks mlds lkjs jksx nwj gks tkrs gSa] ;g

fu"d"kZ  lR; ugha gS D;ksafd lksus ls lHkh jksxksa dk bykt ugha fd;k tk

ldrk gSA

fu"d"kZ II : uhan lHkh jksxksa dh nok gS] ;g fu"d"kZ Hkh lR; ugha gS]

D;ksafd dsoy uhan ysus ls lHkh jksxksa dk fuokj.k ugha fd;k tk ldrk

gSA

vr% u rks fu"d"kZ I u gh  fu"d"kZ II vuqlj.k djrk gSA

36. (b) Conclusion-I : Kku ,oa of̀¼ ds izdk'k ls jksxh ds 'kjhj esa izos'k
djus okyk fpfdRld mldk ges'kk mipkj djs dksbZ t:jh ugha gSaA

Conclusion-II : Kku ,oa cqf¼ ls laiUu fpfdRld jksxh dk mipkj
djus esa leFkZ gks ldrk gS ;g conc. lgh gSA

vr% conc. II vuqlj.k djrk gSA

37. (a) Conclusion-I : Supernatural sources (vykSfdd lzksrksa)

dk iz;ksx energy dh shortage (deh) dks nwj dj nsxk ;kfu
modern technology /hjs&2 super-natural sources dk
LFkku ys jgh gSA ;g ckr lgh gSA

Conclusion-II : stat. ls ;g Li"V ugha gS fd environment dh
over-exploitation ÅtkZ ds cosmic source (ykSfdd lzksr) ds
{k; dk dkj.k gSA blfy, conc. II xyr gSA

vr% conc. I vuqlj.k djrk gSA

38. (d) Conclusion-I : orZeku iz/kuea=kh us bl ckr ij tksj fn;k gS fd
mudh ljdkj fdlkuksa vkSj xzkeh.k xjhcksa ds mUu;u gsrq iwjk iz;kl
djsxh] ysfdu conc. esa] fiNyh ljdkj us bu yksxksa ds mUu;u ds
fy, xaHkhjrk ls iz;kl fd;k gS ;g ugha dgk tk ldrk tksfd xyr gS

D;ksafd vxj fiNyh ljdkj bl eqís ij è;ku fn;k gksrk rks orZeku iz/
kuea=kh fdlku vkSj xjhcksa ds mUu;u ij tksj nsus dh ckr ugha djrsA

Conclusion-II : bl ljdkj dks xzkeh.k xjhcksa vkSj fdlkuksa ds
mUu;u ds fy, tksj fn;k gS ysfdu ;g conc. fd ;g ljdkj 'kgjh
xjhcksa ds mUu;u ds fy, iwjk iz;kl ugha djsxh ;g dguk xyr gSA
D;ksafd bldk ftØ stat. esa ugha fd;k x;k gSA

vr% u rks fu"d"kZ I u gh  fu"d"kZ II vuqlj.k djrk gSA

39. (b) Conclusion-I : ge ;g ugha dg ldrs gS fd yksx nwljs LVksj ij
gh [kk| oLrq [kjhnuk ilan djsaxsA blfy, conc. I vuqlj.k ugha djrs
gSaA

Conclusion-II : ,d [kqnjk LVksj us lIrkg ds var esa lHkh oLrqvksa
ds vafdr ewY; ij 50» dh NwV nsus dh ?kks"k.kk djrk gS rkfd T;kns
ls T;kns yksx LVksj tk lds vkSj ykHk dk iQk;nk mBk lds blfy,
conc. II vuqlj.k djrk gS

vr% conc. II vuqlj.k djrk gSA

40. (a) Conclusion-I : pyrh gqbZ cl ls mrjuk tksf[keiw.kZ dk;Z gS vFkkZr
tks yksx pyrh gqbZ cl ls mrjrs gS os fuf'pr :i ls t[eh gksus dk
tksf[ke mBkrs gSaA blfy, conc. I vuqlj.k djrk gS

Conclusion-II : ;g Li"V ugha gS fd yksx gokbZ ;k=kk djus esa
fo'okl j[krs gS vFkok ughaA blfy, ;g xyr gSA

vr% conc. I vuqlj.k djrk gSA

41. (a) Conclusion-I : fnYyh esa esVªks ls ;k=kk djuk vf/d lqfo/ktud
vkSj fdiQk;rh gS vFkkZr ;g ugha dgk tk ldrk gS fd fnYyh esa
ifjogu ds vU; lk/ku miyC/ ugha gSA conc. I esa ;g dguk xyr
gSA

Conclusion-II : ;g dguk lgh gS fd esVªks lsok dqy feykdj
vPNh gSA

vr% conc. II vuqlj.k djrk gSA

42. (a) vxj Dara cricket [ksysxk rHkh vej Hkh cricket [ksysxkA ysfdu
Dara dsoy jfookj dks gh Cricket [ksyrk gSA blfy, conc. ds
rgr Dara us dy cricket ugha [ksyk FkkA tksfd lgh gSA ckfd
conc. Dara dy cricket [ksysxk] Dara us dy cricket [ksyk
Fkk ;g dguk xyr gSA

43. (d) vxj Sumi, school tkrk gS rks gh mldh d{kk gksxhA vxj Sumi
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tYnh mBrk gS rks og Ldwy tk,xk ;g dFku lR; gS rks conc. (d)

esa Sumi lkseokj dks Ldwy x;k Fkk] eryc oks tYnh mBk FkkA

ckdh rhuksa conc. dFku ls lacaf/r ugha gksus ds dkj.k xyr gSA

44. (a) Conclusion-I ds vuqlkj fdlh Hkh Hkh ns'k ds  }kjk lHkh vko';d
oLrqvksa dk mRiknu vdsys dj ikuk laHko ugha gSA iQyr% mls nwljs
ns'kksa ij fuHkZj jguk iM+rk gSA vr% conc. I vuqlj.k djrk gSA
Conclusion-II  vkerkSj ij ns'koklh vkylh gks x;s gSa] dk ftØ

dFku esa ugha fd;k x;k gSA blfy, ;g fu"d"kZ vuqlj.k ugha djrk gSA

vr% conc. I vuqlj.k djrk gSA

45. (b) Conclusion-I : u;s cM+s m|ksx ls iznw"k.k gksxk ;g iw.kZr% lR; ugha
gS] D;ksafd ge ;g ugha dg ldrs gSa fd lHkh cM+s m|ksx iznw"k.k dk
dkj.k cusaxsA
Conclusion-II : tc Hkh u, m|ksx yxk, tkrs gSa rks jkstxkj ds u,
volj iSnk gksrs gSaA
vr% Conc. II vuqlj.k djrk gSA

46. (c) Conclusion-I : lHkh eafty ij lift ds }kjk igq¡pk tk ldrk gS ;g
xyr gS D;ksafd Stat. II esa Li"V dgk x;k gS fd mlh Hkou esa lift
yxh gS ftlesa rhu eafty gSaA
Conclusion-II : dsoy rhljh eaftyksa ds Åij okyh eaftyksa esa
fyÝV gS ;g fu"d"kZ xyr gSA D;ksafd ;fn lift miyC/ gksxh rks lHkh
eafty ds fy, gksaxs vU;Fkk ugha gksaxhA
Conclusion-III :  7oha eafty ij lift gksxh ;g fu"d"kZ fcYdqy
lgh gS D;ksafd Stat. 2 esa Li"V gS fd ;fn fdlh bekjr esa 3 ls vf/

d eaftysa gS rks mlesa lift gSA
vr% conc. II vuqlj.k djrk gSA

47. (a) Conclusion-I : dFku ds vuqlkj Hkkjr f'k{kk ds fy, cgqr lkjh

fuf/ vkoafVr dj jgk gS ftlls ;g conc. fuf'pr :i ls fudkyk tk

ldrk gSA Hkkjr esa f'k{kk dh xq.koÙkk esa tYn gh lq/kj vk,xkA

Conclusion-II : vdsys foÙk iks"k.k f'k{kk dh xq.koÙkk esa lq/kj

djsxk ;g conc. xyr gksxk D;ksafd mlds fy, dbZ vU; dkjd

tSls&fo|ky; dh fu;fer tk¡p] l[r fu;e] vè;kid vkSj cPpksa esa

vuq'kklu o f'k{kk ds izfr bZekunkj iz'kklu vkfn dh Hkh vko';drk

iM+rh gSA blfy, ;g conc. xyr gSA

vr% dsoy conc. I vuqlj.k djrk gSA

48. (b) Conclusion-I: ;g fuf'pr :i ls ugha dgk tk ldrk gS fd

ABC izdk'ku daiuh dsoy Textbook dks published djrh gSA

blfy, conc. I vuqlj.k ugha djrk gSA

Conclusion-II : X }kjk fy[kh xbZ oqQN ikB~;iqLrdksa dks ABC

ifCyf'kax daiuh osQ vykok vU; izdk'kdksa }kjk izdkf'kr fd;k x;k gSA

vr% nh xbZ tkudkjh ds vuqlkj conc. II vuqlj.k djrk gSA

Conclusion-III : ABC Publishing Company X }kjk fy[ks
x;s dqN egRoiw.kZ fl¼karksa dks izdkf'kr djrh gSA ;g fu"d"kZ xyr gS
D;ksafd fn, x, dFku esa egRoiw.kZ fl¼karksa dks publish djus dk
dksbZ mYys[k ugha gSA

vr% dsoy conc. II vuqlj.k djrk gSA

49. (d) Conclusion-I : ?kjsyw ekax de dh tkuh pkfg,A ;g conc. xyr
gS D;ksafd ge ?kjsyw ekax dks de ugha dj ldrs gSaA
Conclusion-II : bl fu"d"kZ esa leL;k dk lek/ku fn;k x;k gS
blfy, ;g fu"d"kZ xyr gSA

vr% u rks fu"d"kZ I u gh  fu"d"kZ II vuqlj.k djrk gSA
50. (c) Conclusion-I : dqN Nk=k rhoz cqf¼ ds ugha gSA ;g conc. xyr gS

D;ksafd Stat. 1 esa Li"V dgk x;k gS fd d{kk esa lHkh Nk=k rhoz cqf¼
ds gSaA
Conclusion-II : X dks dM+h esgur djuh pkfg, bldk dFkuksa esa
mYys[k ugha gS] blfy, ;g conc. xyr gSA
Conclusion-III : X ml d{kk dk Nk=k ugha gS] ;g conc. lgh gS
D;ksafd dFku esa Li"V dgk x;k gS fd d{kk esa lHkh Nk=k rhoz cqf¼ ds
gSaA vr% dsoy conc. III vuqlj.k djrk gSA
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